+3.16

N 0000000000000 00 0 Y e

+2.39

AVAAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAYY

=i |

\

+0.00

Section —A

Section —C

% +3.16

~ N 0000 Y S S v S Y Y

AVAAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVS

+2.39

o

[TTTTIIIIIIIITIITT]
[TITITTITITITIIIL,

Section —B Section —D

SECTIONS Page: 41

Drawn by: Measure:
Tigane JOHN MOOR \_.N _w




Section —A

Section —=C

26770

2670

9310
300
L1200 7000 600
s 1T 00 s
Nsj | n _fD _.m
WHTHAWHHHHHHN_W_ T Awbo»\fo Y M ; AmbWO\@S | m_u_ux
. />\ : << _
| A1 ] A1 || g
o | ] ER
S | I |
S H I B
| i | -
. z : | |
_muwuwumum A= Hu|mmu.umu.umu.umu.umu.umu.umu.umummu.uWummu.umu.umu.umummummummummummu Mu = u.um_ Lm
L = I | 5
o _ : 7 : _0
= | E
o ¥ I =
| i Al R
L L g \</ |2
s o 7/ S ——— AT ; I e fh—
o | “0 i 18407910 7 =
,-,l-ﬂo.o ....................... 7000 1600
300 9310
Section =D GROUND PLAN Page:L.2
Measure:
JOHN MOOR \_WO




